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Cluster: 0098 ptr; resid: 0.29; r/c: 35/70

x.range

upstream meme PSSM #1; e=990

1 6 11 16 211 6 11 16 211 6 11 16 211 6 11 16 211 6 11 16
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upstream meme PSSM #2; e=110

1 3 5 7 9 11 13 151 3 5 7 9 11 13
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10821
13382

13682

41745

514308976

10847
43429

11088

17772

21430

2770939526
522 9199

45592
15032

17304

1874

23871
41702

7664

10666
14366

17059

26928

33885

35810

43144

43827

44311
44618

5873

8755

9538
string −500 −400 −300 −200 −100 −1

26928NA
43144−0.02
41745−0.04
10821−0.05

8976−0.08
39526−0.13
44618−0.15
45592−0.21

8755−0.21
9199−0.22

41702−0.33
43429−0.36
11088−0.38
27709−0.60
35810−0.61
13382−0.61
51430−1.14

1874−1.36
23871−2.07
10666−3.07
17772−3.12
14366−3.17

9538−3.36
44311−3.55
17304−4.05
21430−4.08
10847−4.55
17059−5.04
43827−5.22

5873−5.80
33885−5.84

7664−5.88
522−6.06

15032−7.59
13682−7.71

log10(P) upstream meme1 2 log10(P.clust)=−2.55; 35 seqs; 35 uniq
c(0.5, 2.5)
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